restart

Ecua = diff (z ), x$2)-5- dlﬁ” ), X, y) +6-diff (z(x,y),y$2) =
S
cua == o2 zZ(x,y) —

62
oy a -
SolGral = pdsolve(Ecua)

SolGral =z(x,y)= FI(y+2x)+ F2(y+3x)
Comp = simplify(eval(subs(z(x, y) =rhs(SolGral), Ecua)))
Comp =0=0
with(PDEtools) :
with(DEtools) :
SolPart == z(x,y) =10- exp(y) -exp(2 x)
SolPart :=z(x,y) =10 & e?"
CompDos = simplify(eval(subs(z(x, y) =rhs(SolPart), Ecua)))
CompDos :=0=0

SolPartDos = z(x,y) =10- exp(y) -exp(-2 x)

SolPartDos =z(x,y) =10 e 2"

CompDosMedio = simplify(eval(subs(z(x,y) =rhs(SolPartDos), Ecua)))

CompDosMedio =200 ¢ — 2X=0
SolPartTres == z(x,y) = (y + 2~)c)3 + 5-cos(y +3 x)
SolPartTres :=z(x,y) = (y + 2 x)3 + 5 cos(y +3x)

CompTres = simplify(eval(subs(z(x, y) =rhs(SolPartTres), Ecua)) )
CompTres =0=0

restart

Ecua = diff (z(x, ), x$2) +2-diff (z(x,y), x,y) +diff (z(x,y),y$2) =
Ecua = % z(x,y) +2 (

Fe
% Gx
SolGralUno = pdsolve( Ecua)

SolGralUno =z(x,y)= Fl(y —x) + F2(y —x) x
Comp = simplify(eval(subs(z(x, y) =rhs(SolGralUno), Ecua) ))
Comp =0=0
SolGralDos = z(x,y) = FI(y —x) + F2(y —x) -y
SolGralDos =z(x,y)= FI(y —x) + F2(y—x)y

CompDos = simplify(eval(subs(z(x, y) =rhs(SolGralDos), Ecua)) )
CompDos =0=0
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